
DEY40−7N

DEY40−1A

wavelength λ /nm contrast C=2:1

Rs(λ)=log[R(λ)/0,20]=log[Rr (λ)] reflection
device red Rd    λd=596nm
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DEY40−2A

wavelength λ /nm contrast C=2:1

Rs(λ)=log[R(λ)/0,20]=log[Rr (λ)] reflection
device yellow Yd    λd=570nm
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DEY40−3A

wavelength λ /nm contrast C=2:1

Rs(λ)=log[R(λ)/0,20]=log[Rr (λ)] reflection
device green Gd    λd=535nm
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DEY40−4A

wavelength λ /nm contrast C=2:1

Rs(λ)=log[R(λ)/0,20]=log[Rr (λ)] reflection
device cyan-blue Cd    λd=489nm
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DEY40−5A

wavelength λ /nm contrast C=2:1

Rs(λ)=log[R(λ)/0,20]=log[Rr (λ)] reflection
device blue Bd    λd=463nm
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DEY40−6A

wavelength λ /nm contrast C=2:1

Rs(λ)=log[R(λ)/0,20]=log[Rr (λ)] reflection
device magenta-red Md    λc=535cnm
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DEY40−7A

wavelength λ /nm contrast C=2:1

Rs(λ)=log[R(λ)/0,20]=log[Rr (λ)] reflection
device green G2d    λd=528nm

400 500 600 700
−0,70

−0,35

0,00

0,35

0,70

λ1=
472

λ2=
572

0,200 51,84

R(λ)   CIELAB lightness L*CIE:

0,282 60,07

0,141 44,37

1,000 100,0

0,040 23,67

G2+

G2−

DEY40−8A

wavelength λ /nm contrast C=2:1

Rs(λ)=log[R(λ)/0,20]=log[Rr (λ)] reflection
device magenta-red M2d    λc=528cnm
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